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BACHELOR OF PHYSIOTHERAPY SET
FIRST SEMFESTER B
HUMAN ANATOMY -1
BPT - 101

ILSEF OMR SHEET FOROBIECTIVE PARTY

Duration: 3 hrs. Full Marks: 70

Time: 30 min.

Choose the correct answer from the followin

9.

( Obiective )
Marks: 20
g: 1%x20=20

The muscle that unlocks the knee joint is :
a. Quadriceps femoris b.  Popliteus
c.  Gastrocnemius d.  Plantaris

Which muscle plavs a signiticant role in respiration and is located between the ribs ?
a. Pectoris major b. External intercostal
c. latissimus dorsi d. Serratus anterior

\nterior wall of axilla is bounded by all except
a. Pectorablis major b. Pectoralis minor
c. Subclavius d. Serratus anterior

The structure present between tibial condvles of upper end of Tibia is called :

a. Intercondvlar tubercle b, Gerdy's tubercle

c. Intercondyvlar ridge d. Cruciate tubercle

Fertilisation is

a. Adding fertiliser b.  Union of ovum and spermatozoon
c. Becoming overweight . Implantation

-

Which one of the following, is not an organelle :
a. Mitochondria ). Golgi apparatus
c. Endoplasmic reticulum d. Nucleolus

Cells of connective tissue proper are all of the following except :
a. Lvmphocyies b. Plasma cells
¢. Fatcells d. Fibroblast

All the superficial flexors of forearm have a common origin from front of
a. Lateral epicondvle of humerus. b. Medial epicondyle of humerus.
c.  Bicipnal proove of humerus . Olecranon process of ulba

Osteoblasts are ;

a. Bone destroving, celis 1. Mineral depositing cells

I. Found in blood

-

c. Bonge formuiry, « clls
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10. Age of an embrvo upto which weet
a. 6 weceks PR C R
c. 10 weeks A, Sthowe ek

11, The muscle which can botiv ilox the fiype cnd ecstcnd the bnee s
a. Sartorius b, [Foclus fem nis
c. Semi membranosus d. Piceps fenore

12. Largest carpal bone is
a. I'riquetral h. Scaphod
c. Capilate J. Hamate

13. What type of jointis the Hip joint ?
a. Ball & socket joint b Hinge joint
c. Pivot joint d. Llipsoid joint

I4. Action of biccps brachii is
Flexion of elbow aid supinator of
forcarm

h. Extension of elbow
c. Abduction of shoulder d. Internal votation of shoutda,

I1S. What is the insertion poini of Glutons Nedivs & Minimus musclos ?
a. Hhiotibial tract i Gireaoter Trochantes
c. Gluteal tuberosity + Hicubal traci d, lrochanteric toss ot Temmum

'

16. Which valve is responsibie for presenting the back-tiow of ble o irom the gorie mito
the left ventricle ?
a. Tricuspid h. Puimonary
¢. Mitral d. Aortic valve

17. Which structure covers the Thoracic imlet ?
a. Servatus anterior b. Subscapularis
¢. Sibson's tascia d. Rhomboid musdic

18, Which lobe of right fuag is iocated above the horizontal liesue ?
a. Superior lobe b. Middic lobe
c. Inferior lobe d. Sigmoid lobe

19, Shoulder joint is tormed © o the articulation between
Acromion process and head of

b, Glenoid cavity and head of pumeres
humerus 5

c. Lateral end of clavicle and sternum d. All ot the above
20. The contents of middle mediastinum are sl ot the tollowmg, v
i Heart & perncardium b. Pulmonary arter,

c. Upper half of superor vena cava . Biturcation of trachea



6.

Time: 2 s, 30 min

! Answer guostion na ! & any fowr (4) frem the iest ]

4. Petiae bone,

b. What are the typos of bone,

c. Describe wilh o aeat dicpran the difeiont neats of a typical
long bone

Praw o diagram and desertbe the consg soctiog of - medinm sized

artory

Fxplain brachial plexus fnodeails with o dicpsiain, Give o ao'e o
Frh's palsy.

a. bxpicin Fomeral triangle.
b. What is Adauctor canal
Use diagrams whoerever reguived

Discass the orvigin, msechion, netve sapphy and action of wiasies of

tront of arm.

Write in details avout oxternal and interne! feotures of each
chamber of the fie v bwiti labelled diagrame,

a. becplain Popliteal fossa 7
b baplain the Arches et the fool

cse dabellod diagrams wherever necessacy

VUrile shici b nete gy daro ol e fellowing
a0 Hotator cati aaacke,
oo entilisation

. Musoulataee of e P herax

(e8]

Marks : 50

2+246

=10

TH3=1u

RERE S
2=:10)

1]

SES8=10
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